MODEL: KD/RD/TD/SD/PDB32TA-1E DINING TABLE

® Please check contents and read instructions before commencing

assembly,

® Plegse use a soft mat to avoid domaging during assembly
® Assemble this article following the enclosed instructions carefully.

page 1 of 3
No Part Qty No Part Oty
| }TEIE'QIIIIHID T'D]:F 2 II... \ Thrﬂ.udud Bﬂll 4
2 |Side panel i M8x65
3 | Pedestal 1
B ﬁ@ﬁ?- Nut M8 | 4
4 |[Soleplate Bottom| 1 T
B Faceplate Top l ; @ Maxiluna Washer 4
¢ ®40x15
[ 0 Cover Cap 940 | 4
E ézé@;g; Spanner M8/13mm | 1
F (:::> Gasket M8 8
G [m@ Screw M8x35 | 8
H ¢¢ﬁ§q§¥h§h Spanner Smm 1
Wooden tenon 9
I $8Y30
J | Pressssesessssssd  Scrow ¢axdo | 10
K % bag l

5

30min



MODEL: KD/RD/TD/SD/PDB32TA-1E DINING TABLE

page 2 of 3

STEP 1|

STEP 3

STEP 2 |

Loose the @4x40 screw of inside
Faceplate top
Take out 2 panels

damaging during assembly

Pleose use a soft mat to ovoid ]

Cover Cap @40
Dx4

@40x15 Nut M8
Cx4 @ Bx4
MExB65 MB / 13mm Spanner Smm screw  MBx35 | Gasket
/ Ax4 Ex1 NS Tk o8 [ D

M8
Fxs




MODEL: KD/RD/TD/SD/PD832TA-1E DINING TABLE

page 3 of 3

STEP 5 i

Fix soleplate bottom (4 with

STEP 7

Faceplate top(Dby @4X40 screw

STEP 6

Screw @4x40
oot JX16

STEP 8

Wooden tenon

s

Put the extension in the bag,then hide it under the table face J

>

Kx1




